QCM d’entrainement
Développement avec les
identités remarquables

Corriger

I Résultats SN
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Total




Question 1.

Question 2.

Question 3.

Question 4.

Question 5.

Question 6.

(x+1)72%=...
2 +1 24+r+1
22+ 22 +1 2 +2

Je ne sais pas

(r—2)2 =
22 —dx+4 22— 2244
22+ 4 —4 % —4
Je ne sais pas
(3—1)?=
9 — 22 9 — 22 + 22
9 — 6x + 22 9+ 6z — 22
Je ne sais pas
(x+6)(z—6)=...
(z —6)? (z +6)?
2% — 36 z? + 36
Je ne sais pas
2+z)2—2z)=...
(2-1x)2 22 —4
z2 -2 4 — z?
Je ne sais pas
(4r+1)%2=...
22 +8x+1 1622 + 8z +1
22 4+2x+1 22+ 241

Je ne sais pas



Question 7.

Question 8.

Question 9.

Question 10.

(5x — 2)?
2522 — 20x + 4 2522 — 20 + 4z
a2 — 2z +4 5a2 — 20z + 4

Je ne sais pas

2z +3) (2 —3) =...
42% -3 x2 -9
422 -9 422 — 12249

Je ne sais pas

2z +2)%=...
(4)? 422 — 4
4a? + 4z + 4 4z + 8z + 4
Je ne sais pas
(x—1)2-25=...
(x4 6)(x+4) (xr —6)(x+4)
(z —1)(z —5) (z—1)(z +5)

Je ne sais pas
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